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Reasons Why Fundamental Accounting Concept1 Test Fails 

IS2 

Operating Income (Loss) = Gross Profit - Operating Expenses + Other Operating Income (Expenses) 

(Multi-step approach) 

 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Gross Profit 

 Operating Expenses 

 Other Operating Income (Expenses) 

 Operating Income (Loss) 

This tests the conformance to the relation between gross profit and operating income (loss) when a 

multi-step approach is taken to representing an income statement. 

Of a total 9,679 financial reports examined, 3,621 (approximately 37%) report gross profit and 6,594 

(approximately 68%) report operating income (loss).  3,230 (approximately 33%) explicitly report both 

gross profit and operating income (loss).   

Further, 4,547 (approximately 47%) report operating expense.  Far fewer, 153 (approximately 2%) report 

other operating income (loss).  This rule is generally always applicable when a reporting entity provides 

a multi-step income statement.  However, there are times when this relation can be satisfied when a 

reporting entity does report operating income (loss), cost of revenue so that gross profit can be 

imputed, operating expenses which are commonly reported, and other operating income (expenses). 

Conforming to this relation tends to make all of the fundamental accounting concepts interpretable by 

automated machine-based processes.  It is possible to create a correct digital financial report and not 

conform to this relation.  However, conforming to this test is necessary to safely interpret financial 

information.   The following is a summary of reasons public companies do not conform to this relation: 

 Subtotals are not provided for either operating expenses nor other operating income (expense) 

 Some other fundamental accounting concept is used as a component of either operating 

expenses or other operating income (expense)  

 Subtotals are provided for either operating expenses or other operating income (expense) but 

then an extension concept is provided and the category into which the extension fits is unclear 

 Other issues 

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://fundamentalaccountingconcepts.wikispaces.com/
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There are exactly two line items between gross profit and operating income (loss) when a multi-step 

income statement is provided: operating expenses and other operating income.  This can be seen from 

this relation from the US GAAP XBRL Taxonomy: 

 

These are the XBRL calculation relations expressed in the US GAAP XBRL Taxonomy: 

 

The income statement of the filing below shows the general relationship between these concepts: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=789019&accession_number=0001193125-14-

157088&xbrl_type=v#  

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=789019&accession_number=0001193125-14-157088&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=789019&accession_number=0001193125-14-157088&xbrl_type=v
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Note that the reporting entity has no line item which represents “Other operating income”.  They do 

have a line item “Other income (expense)” but note that (a) the concept is not within the total of 

operating income (loss) and (b) the line item is represented by the concept us-

gaap:NonoperatingIncomeExpense and is therefore clearly nonoperating. 

 

 

 

 

 

Reasons why tests fail  
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Subtotals are not provided for either operating expenses nor other operating income (expense) 

TO DO. 
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Some other fundamental accounting concept is used as a component of either operating expenses or 

other operating income (expense)  

TO DO 
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Subtotals are provided for either operating expenses or other operating income (expense) but then an 

extension concept is provided and the category into which the extension fits is unclear 

TO DO 

 


